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1. Find the equation of the line through (-3,2)
a.y="5x+17
b.y=2¢+4
c.oy=3x 4+ 13
dy=7=-17
2 I ptx, ¥) Is an arbitrary point on the line, then, y = mx + ¢, where m is the slope of the line and ¢ is
they y - intercept is called
a. the linear form
b. the slope intercept form
. the intercept farm
d. the quadratic form

3. The distance fram a point {x;, ¥;) ta the straight line ax + by + c =0 is
a Hgﬂﬂl.ﬂ
a'+b’
b. i‘!l'!"'_h“.].ﬂ
a‘+b*
C. gxythy +c
a*+h?
d. +0y 4G
a+b
4, When the vertex of the prarabola x* = 4by is translated to the point (%1, y1), the eguation of the

carresponding parabola will become
a. (x— %) =4bly =y
b (x—x) = 4b(x = x)’
C.(x- %)t = 4aly —y1)

d. (x = %) = 4a(x — %)’

Use the equation of the parabola below to answer questions 5= 7. —dy—2x + 18 =0
5. What s the vertex of the parabola
a. (2,7)
b. (7,2)
c (-2, 7)
d. (-7, -2)
5. wWhat is the focus of the parabola
A (%2 2)
b (2, "1 )
e (% -2)
d- {'EF _ﬁlllé.a)
7. \What Is the directrix of the parabola
a = Ellrn

d. %= 'L]r';-
B, Obtain the acceleration of the position vector r(t) = 3t - (2t + 1)j-t'katt = 1 sec.
a. a=6l-12j- 12k
b, a=-6i—-13]- 12K
g a=6+12]- 12k
d.a=6-12j+ 12k
g. If 2 mass of 2.6kg has an acceleration of 1.2m/s2. whal force Is acting on iL?
a. 3.02N
b. 3.1ZN
C. 3.22N
d. 3.32N
10. Evaluate the area of the paralielogram whose diaganals are given by the vectors
ga=-3+dk; b=31+]j-4k
a.s \llri

b.5 /4
c.3ﬁ



11.

12.

13.

14.

15,

16.

17.

18.

19,

20,

d.4 3

If a force of 7N acts on a mass of 3,2kq. find is accaleration

a. 2.1575m/s2

b. 2.1675m/fs2

g, 2.1775m/s2

d. 2.1875m/fs2

Find the value of arifthe vectorsx = 3i+aj + 5k ;y=2i—j+ kand z = i t 2j — 3k are coplanar
a.—2

b.4

e.=3

d. 2

Use the infermation befow to answer questions 13 — 14

A particle A of mass 0.5 units moving with velocity (2( + 3i) m/s collides with a stationary
particle B of mass 1.5 units. The velocity of 8 after impact s (5] +) m/s

Find the velocity of A after impact.

a. 13i+ 3j
h. 13i
c. 20i
d. 13f = 15j

Determine the magnitude of the impulse batwaen the particles.

2 2 2 2 JI2

A ball of mass 200g maving at 15 m/s hits a wall perpendicular and rebounds with speed 6m/s.
what force acting between them If the contact lasts 0,01 sec,

a.— 120N
b. - 430N
c. = 440N
d. - 450N

The plane is divided into ___equal parts of two perpendicular lines denated as x and y axes
a2

he distance between the points P(a,2a) and Q(-3a, -a) is

/5a

o
< '..r'g

d. - 5a

Tha mid-point A of the line joining P{3, -2) and Q{5,8) is

a. (4,3)

b. (3,4)

c. (8,6)

d. {5.8)

Given the points A{1,-2) and B{4,1), find the coordinates of the point that divides the line AB in the
ratio 1:2

a. (2,1)

b. (-2,1)

c. (-2,-1)

d. (2,-1)

What is the equation of the straight line parallel to the x-axes and meeting the y-axes at the point
(0,3)?

a.x=y+3

b.y=x+3

Y
b

k.4
c.b
d. 8
T

8. 5
h.

3
3

o

C.
d.



use the information below to answer questions 21 and 22

the lines; 2Zx +y+3=0andx+2y—1=0
Form the two side of a rectangle whose olher sides meet at the point (3,4)

21,

23.

24.

25.

26.

27.

28,

22,

The equatians of the other sides and
a.2y=x-5 y=2u-10
b.y=x=-5 2y =2x-10
CAy=x+5 y=2x+ 10
day=x+5 y=-2x+ 10

The area of the rectangle is

E_%
5
52
. ¥
g
C. =
5
S
d. }5

The eguation of the circle center (3,5), radius £ is
3. )i +yi+6x+10y =30 = 0

b. y' +x’+4x+10y — 20 = 0

C. x*+y*-6x-10y — 30 = 0

d. x*+6x+2+10y —20 =0

what is the center of the circle?

a.(3.4)

b.(-3, 4)

c. {3,0)

d. (0,3) >

What is the equation of diameter which passes through the point (7,3)
8.2y =3x + 3

B.y =3
C.y=-=3
d. 2y -3x-3

The equation of a parabola with the focus (a,0) and the directrix x = -a is

b. x* = -~ 4ax
c. x! = day
d. y* = dax

Write the equation in Its canonical form
a (x=2) + (y+1)Y¥ =1
25 4

b. 25(x% — 4) + 4y + 2y) = 59
e (x=2)¥ + (y+1¥ =1
4 25

d. 25(F —4%) + Ay*+ 2y) = 1

The vertices on the vertical axes are

a. (2,4) (-2,6)

b. (-2,8) (2,-6)

c. {zrqj {215}

d. (2,4) (2,-6)

which of the following Is true about a vector quantity
a. it has magnitude without direction

b. it has direction without magnitude

¢, it has both magnitude and direction
d. it has neither magnitude nor direction



30.

31.

32.

33;

35,

KL

38.

The point P divides the line AB in the ratio m:n If M:n is positive then the point P lles
a. in between the paint A and B

b. Outside A and B

c. beside A

d. beside B

Evaluate the velumes of the parallelepiped whose sides are given by vectors
a=2-2j+k b.=I+]j-Kk cC.3i=2]+ K

Find the projection of the vector
A=T1-2j+konvectorb=2i-2j-k

R
d 3
Find the vector to the hyperbola 25%% — 4y’ =100
a. (-2, 0), (2, 0)

b. ('Er 2]': (E: D:I

C. (Dr '2:': (_2.' n)

d. (2, 0), (-2, -2)

Find the foci to the hyperbola 25x* - 4y* =100

a. (- y29,0), (429,0)

b. (y29.2), (29.0)

¢. (-/29.0), (-429.0)

a. (y29.0), ({29,0)

Write the equation of the hyperbola in its canonical form
25k’ =y = 50x - 16y -91 =0

a. (x+ 1) - (y+2V¥=1

4 25

b, (x-1)Y - (y+3¥ =1
4 25

co(x+1Y - (y+1Y =
4q 25

d (x+2) - {(y+l1¥=1
4 25

Find the equation of the tangent to the hyperbola 4x? — 9y* = 36 at the point ME)

8.3y-2x+6=0
b.2y-3x+6=0

C.3y - JE +6=0

4302y -2x+6=0

Find the equation of the normal to the hyperbola qx? — 97* = 36 at the point (BJE:E]
a. JE_; +3x-1142 =0

b, /2y +342x-114J2 =0

c.24/2y +3x-1342 =0

d. 2y +3x-1142 =0

If the modulus of a vector is unity, itis referred toas a

a. scalar

b. vector
€. unit vector



39.

q0.

q1.

42.

4..

43.

43.

d. unit scalar
The distance between the points P(2a, a) and Q(3a, - 2a) is
a. 10a

h.vﬁﬁa

c 10

d. -10a

The mid-point A of the line joining P(-3, 2) and Q(5, B) is

a.(1,5)

b. (-1, 5)

c (-1, -5)

d. (1, 5)

Given the point A(2, -1) and B(3, - 2), find the coordinates of the point that divides the line AB in
the ratio 1:2

a. (7/3, 0)

b. (3/7, 0)

c. (0, 7/3)

d. (0, 3/7)

What is the equation of the straight line parallel to the y-axes and meeting the x-axes at the point
(3, 0)?

g.x=Yy +3

b. y= x+32

c.y=3

d.x=3

Given the paint A(2, -1), and B(4, 2), find the equation of the line which is perpendicular to AB
through a point P with the ratio AP : PB = 1:3,

a 12y + Bx + 17 =0

b.y +8x—17 =0

£, 1dy —=8x+ 17 =0

d. 12y + 8x -17 =0

Two straight lines y = mix+cl and: y= m2x+c2 are said to be perpendicular if
a.ml+ml=1

b. ml m2 =-1

c.ml=-mi

d.ml=m2

What is the tangent of the angle between the lines y + x =6 and 2y + 4x =37

a. -1

v

C.

d.

Use the information below to answer question 8 and 10 the lines y = x — 5 =0 and 2y -éx + 5 =0 form the
two sides of 3 rectangle whose other sides meet at the pointy (4, 7)

44.

45.

50.

The equations of the other sides are
ay+x+3=0 Y+2x+15=10
b.y-x-3=0 2¥Y+2x-15=0
C.2y-%¥-3=0 Y-2x+15=0
d.y-x-3=0 Y+2-15=0

The area of the rectangle s

a. 104
b.

21
e 21
d. V104

The equation of the circle center (3,5), radius 2 [s
3. +y+6x+ 10y=30=0



b.¥ +y -6x-10y-30=0
el +y +4ax+ 10y +20=10

d ¥ +6x+¥- 10y-30=0 -
Use the equation of circle below to answer questions 51 and 52

Yy rax+i0y-30=0

51. Whal is the center of the circle?
a (2,-5)
b. (-2, 5)
¢ (2, 5)
d. (-2, *5)
52. What is the equation of diameter which passes through the point (5, 7)
a. 3y =2x + 11
b. 3y = 2x - 11
C Iy =-2x+ 11
d 3y=-2M-11
53. The equation of a parabola with the focus (-a, 0) and the directrix x = a is

a, %’ = -4ay

b. x' = - 4ay

c. % = day -
d. x’ = day

Uise the equation of the elljpse below o answer questions 15 and 16

54, Write the eguation in its canonical form
a. (x=202 +(y-1) =
25 4

b. (x=2)* +(y-1Y¥ =
4 25
c 507 -2x) + 4y -4y) = 4
d. 25(F - 2x) +4(y’ - 4y) = 1
59. The vertices on the vertical axes are
a. (2,6), (2,9
b. (-2, B), {-2, 4)
¢ (2,6),(2,-49)
d. {2, Bjr {zr -4}
56.  Which of the following is true aboul a scalar quantity?
a, It has magnitude without direction
b. It has direction without magnitude
c. It has beth magnitude and direction
d. it has neither magnitude nor direction
57. The point F divides the line AB in the ratio m : n if m : n is negative and lies between 0 and -1, then
the point P lies
a. in between the point A and B
b, outside AB and is closer to A and B
c. Qutside AB and is closer to B than A
c. beside B
58. Evaluate the volume of the parallelepiped whose sides are given by vectors
g=2i-3j+k, b=2i+}j=-k c=3i=-2j+ 2k
a. 11
b. 12
c. 13
d. 14
59, Find the projection of the vectora = 2i=2j-konvecterb=j-2j +k
d.

e .é"Im



60.

G61.

61.

63.

64.

65.

66.

&67.

6B,

J6
e 5
d 3

Find the area of the triangle ABC with co-ordinates P(3,4), Q(S, 7) and R(7,6)
a. 22 square unit

b. 23 square unit

c. 29 square unit .

d. 25 sguare unit

What is the slope of the straight line joining the points R(6,9) and M(5,6)?
a.l

c. adjacent to each other

d. perpendicular

Two parallel forces having opposite direction are called
a. like parallel forces .

b. like perpendicular forces

c. unlike parallel forces

d. unlike perpendicular forces

In the diagram below, if XY = - XZ, find the force P at the poiat x

X z
pY soN ¥ SON v
a. 50N

3
bl- 25”

25

CFN
d. =N

‘B
If the three point A, B, C are collinear and distinct then there exist I,m,n such that

a.la-mb-ngc=0
h.la+mh+n5=9ﬂ“
c.la+mg+ngc=0 %
d. la + mb + nc = 360°
Velocity is an example of 2
a. scalar quantity
b, multiple magnitude
c. both scalar and vector quantity
d. neither scalar nor vector quantity
The area of the ellipse _x> + y* =11s
100 64
a. 70
b. 70n
¢ 80n
d. 80
The co-ordinates of the fod of the ellipse _x* + ¥ =1is
100 64
a, (+6, 0)
b. (6, O)



€9.

70,

71

72,

73,

74,

75,

/6.

for x

/8.

¢ (+3,0)

d. (3, 0)
Find the equations of the tangents from the point (2,4) to the parabola y’ = Bx
X'-2y=x-6
a 2y=3x-2 b, 2y = 3x-2
2y =3 -2 2y =-3x+2
€. 2y=x+6 d 2Zy=-x-6
y=3x+2 2y =-3x-2
Find the radius of the circles 4x* + 4y* - 12x + 5 =0
a2
b. 1 .
3
d. 4
Find the center of the circle 4x® + 4y* = 12x+ 5=10
a.(3,0)
b. (%, 0
c. (*/s, 0)
d. (2, 0)

A couple is a pair of forces with

a. equal magnitude and direction

b. equal magnitude but apposite direction

¢. unequal magnitude but same direction

d. unegual magnitude and cpposite direction

If a beam is under the influence of a couple (forces); the beam will
&. be in equilibrium

b. experience rotational motion

¢. experience opscillatory mation

d. experence translation motion

Find the resultant of two equal coplanar forces each SON acting at angle 30°to each other

a. 10V 75N

b. 10 -J;;{JN

c. lﬁmm

d. 10 Vﬁ'a_g :

If the vector g is represmted by AB, the vector -a will be represented by

i=2+y+2 b =¥/ V+Z o |=¥ +ny_z
d. = /-y -2

If the vector a Is represented by AB , the vector - 2 will be represented by

a. 4

b, B4

C.—d

d AD

If the point P(x,1) and Q(-6,-5) are aqidistant from the point R(-3,-2). Find the two possible values

a. X=12 or -6

b. X=-120r6

c.X=120r6

d. x=-120r-b

P and Q are the points (3,5) and (-5,-7) respectively. The co-ordinate of the points which divide FQ
internally in the ratio 3:1 is

a.(3.4)

b. {-3,4)

. (3,-9)

d. (-3.-4)



79.

50.

Bl.

82,

B3.

84,

85.

86.

7.

EE,

89.

Find the area of the triangle with co-ordinates P(3,4), Q(9,7) and R(7,6)
a. 22 square unit
b.24 square unit
c, 23 square unit
d. 25 square unit
What is the slope of the straight line joining the points R(€,2) and M(5,E)

2
b.
C
d

A Lad P s

1f q Is scalar and a and b are vectors, then g(a + b)= ga+qghb salisfies
a, Commutative law of scalar multiplication

k. Asscciative law of scalar multiplication

c. Distributive law

d. Associative law of vector multiplication

Given that A= 3i —j — 4k and B= -2j + 4j -3k. Find fA + B/

a. s0
b. 59
c. v50
d. V59
If C is the perpendicular vector to the vectors a=17 +2f - kand b = 2f + J - k. find the value of
a-(bxc)
a.?
b.8
c. 10
d.ll
Given the points P(X,Y), Q(3,2) and R(9,5). What is the equation of the ling PQ
a.x=2y—4
b.y=2x-4
c.y=x+4
dy=2x+4
What is the perpendjtular distance from the point R to the line PQ
5, o2
:w"s'
B =g )
c 2B
a
d. 5
What is the equation passing through the paint R and is parallel to the line PQ
ay=24+13
b.y=x-13
c.y=x+13
d.y =2x—13
What is the equation passing through the paint R and is perpendicular to the line PQ
ay=-x+19
h. ¥y =X+ 18
c.2y=-x+19
d. 2y = x + 19

A point R moves so that its dlEI:EInCEE from Lwo fixed points P (5,3) and Q(7,4) are always equal,
Find the equation of the locus of R

a.x+ 2y =31

b.x+y=31

c dx-2y = 31

d. 4% +2y = 31 -

The point of intersection of two lod 3x—y-5=0and 12x +y-25 =01is

a.(1,1)

b, (-2,-1)
¢ (-2,1)
d. (2,1)



g0, A unit veclor has

a. unit magnitude

b. multipla magnitude

¢. zero magnitude

d. negative magnitude .
al. Given r = 5i -6j — 2k. find |r|

a. Vas
b. G5
C. J.?Iﬁ
d. &0
g2,  Two or mora vectors are said to be coplanar if they are all paralle! to the same
a. Line
b. Poinl
¢, Plane
d. Circle
g3, Find the resolved part of the vectors a = 6/ - 3j +5k in the direction of b =27 + 2/ - K raspectively
8. 0
h 1
) |
d, 2 .
4, Given the peints A and B with the vectors a = 4i - k and b = 6i + - 4k respactively. The vectar AB
ic given by
a, 10 +j -5k -
B, 10i= 5k
e 2l-3k
7 2i+j-3k

gs. Two parallel forces having the same direction are called
3. Like parallel forces
b, Like perpendicular forces
£, Unlike parallel forcas
7. Unlike perpendicular forces

<0. The sum of the moment of a couple F newtons acting on 2 beam of lengthy x maters is given
a F.ox
b, 2F. %
C :F b4
g F.x

c7. The equation of the plane containing the point A with vector pesition @ =7+ 5/ = Jk and
perpendicular to the vector 27 + 37 + 6k is
a, 2x+3y+0z-35=0
9, 2x+3y+62+35=0 .
. x-3y-62-35=10
d 2x+3y +61=10

©B. Fvaluate the area of the parallelogram whose diagona| are the vectors @ =J - 3/ + 4k and b
=3 +j-2k
a 3
D, 3
. 5/3
d 35
00.  What is the tangant of the angle between the Inesy = -2x+ 1 and 2y = 2x - 1
. =3
2, -1
. 2
d 4

100.  Find the speed of an aero plane with the position vector r{t) = £ + (£ + 1)j + tk moving in space
at time 3 s2conds
A 33m/s c. 3sm/s
b. 32m/s d. 27mfs



